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ELECTRICAL ENGINEERING AND MEASUREMENTS
Fraifa a3 9 [SATehaT 37 : 60
Time allowed : 3 Hours] [Maximum Marks : 60
e () FHEAATIEAC @ HE )
Note : There are three sections A, B and C in the paper.

(ii) QT T T FvT GEIT 1 & G4 10 9T & ITR HI9T | 5% Y77 @ 37 &1 6 G
G 10 977 TGHE THR F Te7 & 8 1

Answer all the 10 parts of the question No. 1 in section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) QFT & S 8 FoN 4 @ fbegl 6 o1 F I JIT | % T97 3 37% 1 8 0q
ST 5 SAT5/50 Veg] 7 IR o /|

Answer any 6 questions out of the 8 questions in section B. Each question
carries 3 marks and to be answered within 5 lines/50 words.

(iv) OFF @ F6 T 78 55T 4 31 & IT T | TAF T 8 3% F & 09
§7HT 15 157/150 91551 4 I GIir? |

Answer any 4 questions out of the 6 questions in section C. Each question
carries 8 marks and to be answered within 15 lines/150 words.

(v)  TRF GF F T 59 ) FHEAR T T FF Hford |

Solve all the questions of a section consecutively together.
(vi) 2 aTSTa 3R §F @1 IRy 7 S G & A 8
Only English version is valid in case of difference in both the languages.
JA -~ T
SECTION - A
L () Tou am Aot & g ot fewn s e ot e 8
(a) RATH <1 SR BT 1 M (b) W= 1 Frem

(c) e w fem (d) FoIE 1 RH
To determine the rotation of D.C. motor, the rule / law is
(a) Fleming’s left hand rule (b) Lenz’slaw

ﬁ (¢) Faraday’s law (d) Coulomb’s law
(10f4) P.T.O.
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(ii) I fepem sie wew i fd sret ¢ a1 wod fa.an, we
(a) QT | (b) =am|
(c) HHM T | (d) &l S |
If the speed of a D.C. shunt motor is increased, the back emf of the motor will
(a) increase (b) decrease
(c) remain same (d) become zero
(iii) afonfim «1 g g :
(a) TR S (b) O
(c) Tifaes Tw (d) ees S
Principle of transformer is
(a) Mutual Induction (b)  Self Induction
(¢) Static Induction (d) Dynamic Induction
(iv) SROT Ot gerehTel! TTfd T =e Hehdl! @ -
(a) forTuWR®™ (b) TIWR®
(c) e gat i T e &t (d) =t
An induction motor can run at synchronous speed
(a) onno load (b) on full load
(¢) Ifno. of poles are large (d) Never
(v) AN HESH | S8 9T Se 8] 8
(a) IL = \E Iph (b) ][L - Iph
Lon
(c) IL :__\/‘%“ (d) ]l =i3 lph
In a star connection the line current is equal tp
(@) IL = '\/’:’; Iph (b) E’IL - IPh
Loh .
© I = —\f—; @ L =31,
(vi) PreemAwfFasrg 2
(@ P=Vl cos¢ (b) P=3V cos¢
(c) P= \/—3_ VI cosd (d) P=V,lpcosd
Formula of power in 3-phase is
(a) P=V_[ cosd (b) P=3V] cos¢
(c) P= \ﬁ VI cos ¢ (d) P=Vplpcosd
(vii) ITra ATt 5 Tt B
(a) HoHAA B (b) fmag
(c) ®®g @) g
Frequency can be measured by
(a) Maxwell’s bridge (b)  Schering bridge
(¢) Hay’s bridge (d) Wein’s bridge
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(viii) ST ok AT A A B 8 A ST Hg ST A TA § ?

(a) ¥ (b) e g
(c) T (d) “Hfea 8
Which of the following bridges is used to measure power factor ?
(a) Wein’s bridge (b) Maxwell’s bridge
(¢) Schering bridge (d) Kelvin bridge
(ix) STEHIS W1 IUF A9 § HLd &
(a) dleear (b) ®m@
(c) wifed (d) St
Wattmeter is used for measuring
(a) Voltage (b) Current
(c) Power (d) Energy
(x) drceHie il quE SeH o foTT T3 id &
(a) ™ (b) WAL
(c) am ufomnfis (d) W T T hIg TE
For range extension of a voltmeter is used.
(a) Shunt (b) Multiplier
(¢)  Current Transformer (d) None of the above (1x10)
A — &
SECTION - B
2. feu gma Hie = fagra fofa |
Write the principle of D.C. motor. 3)
3. qoushiell HIet TN H1 A8l Bt 2 7
Why synchronous motor is not self starting ? &)

4. TR EE 91 50 Q % gfe @ e 400 V, gwiE @SSl T R @ % 9T 7
Hif |

Three 50 ohm resistors are connected in star across 400 V, 3 phase supply. Find the
phase current. 3)

5. % —8q %1 URGY TG SIEY T FEY ST Sehcd A Hi Hl G feffe |

Draw the circuit diagram of Hay’s bridge and write the formula to find unknown

inductance. 3)
6. = g aul =l Fusel THR H IR 1 el I |

Compare the MI and MC type instruments. 3
7. G YT o IUTH] 7 ST el hi HHIATS |

Explain damping torque in indicating type instruments. 3)

P.T.O.
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8. U Tl HUSH! TeadHIet & T 98T & fTU 15 mA 9T 37999 £ | 56&1 5 A 0% ¥
QG dTed 37fiet o wger & | et 1 gfedier 10 O & a1 vie Fveeh &1 ufaiy sa Hify |
A moving coil galvanometer requires a current of 15 mA for full scale deflection. It is

to be converted into an ammeter reading upto 5 Amps. The resistance of meter is 10
ohms. Find the resistance of shunt coil. 3

9. ur uRnfaz qur fave wionfis 9 R fafan |

Differentiate between Current Transformer (C.T.) and Potential Transformer (P.T). 3
o -
| SECTION - C
10. ez am Aex % foru ofiF fomg yeds =1 = fom % a1y gugmed |

Explain the three point starter for D.C. motor with neat sketch. ®)

1. Torenet Swor Jrex 6t e qen SrIfat &) augrss |

Explain the construction and working of three phase induction motor. )]

12, WR <6 ST 9T SHRif S amems |

Explain the construction and working of Meggar. (t))

13, fez amu favammd & sefer fagra = gz |

Explain the working principle of D.C. potentiometer. 3)

14. <@ A i wgfera srereyn & forw afuy fas afed stwes wofia €ifv |

Derive the expression for balance condition with circuit diagram of De-Sauty’s bridge. (8)

15. Trencfta Seor waem o ored dieest 3R et e, offsT aRT 39 ot ur A areey e
i |

Derive the relation between line voltage and phase voltage, line current and phase
current in 3 — ¢ delta connection. 3



